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Exam A

QUESTION 1
Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique

solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have

a correct solution.
After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the

review screen.
You create a table named Products by running the following Transact-SQL statement:

CREATE TABLE Products |

FroductlD int IDENTITY(1,1) NCGI NULL PRIMARY EKEY,
FroductName nvarchar (100) HULL,
UnicPrice decimal (18, 2} KOT NULL,

TR E

UnitalnStock int NOT NULL,
UnitaCnOrder int NULL

You have the following stored procedure:

Froducts (ProductHame, Froductizice, Productalaitock, ProductaCnlrdes

sductiames, AUnitPrice, 30nicsInStock, 3inl calndrder )

You need to modify the stored procedure to meet the following new requirements:

-Insert product records as a single unit of work.

-Return error number 51000 when a product fails to insert into the database.

-If a product record insert operation fails, the product information must not be permanently written to the database

Solution: You run the following Transact-SQL statement:
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Does the solution meet the goal?

A. Yes
B. No

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

With X_ABORT ON the INSERT INTO statement and the transaction will be rolled back when an error is raised, it would then not be
possible to ROLLBACK it again in the IF XACT_STATE() <> O ROLLACK TRANSACTION statmen.

Note: A transaction is correctly defined forthe INSERT INTO ..VALUES statement, and if there is an error in the transaction it will be
caught ant he transaction will be rolled back, finally an error 51000 will be raised.

Note: When SET XACT_ABORT is ON, if a Transact-SQL statement raises a run-time error, the entire transaction is terminated and
rolled back.

XACT_STATE is a scalar function that reports the user transaction state of a current running request. XACT_STATE indicates whether
the request has an active user transaction, and whether the transaction is capable of being committed.

The states of XACT_STATE are:

OThere is no active user transaction for the current request.

1The current request has an active user transaction. The request can perform any actions, including writing data and committing

the transaction.

2The current request has an active user transaction, but an error has occurred that has caused the transaction to be classified as
an uncommittable transaction.

References:

https://msdn.microsoft.com/en-us/library/ms188792.aspx

https://msdn.microsoft.com/en-us/library/ms189797.aspx
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QUESTION 2

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have
a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the
review screen.

You create a table named Products by running the following Transact-SQL statement:

MOT WULL FRIMARY KEY,
1T
MATL

You need to modify the stored procedure to meet the following new!requirements:

-Insert product records as a single unit of work.

-Return error number 51000 when a product fails to insert into the database.

-If a product record insert operation fails, the product information must not be permanently written to the database
Solution: You run the following Transact-SQL statement:

RIS

roductiame nvarchar (160
tPrice decimal(l3,2),

AUROTder int

BEGIN

BEGIX TRY

cta | Productase P

B
tHane, 8UnitPrice, #tnitelnStock, B0ni

rodostPrice, Producealnseack, Product slnlvrders)

* 0 ROLLBACE TRAMSACTION

ERD CATRH

ENT

www.vceplus.com - Download A+ V CE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online


https://vceplus.com/
https://vceplus.com/
https://vceplus.com/

Does the solution meet the goal?

A. Yes
B. No

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

A transaction is correctly defined for the INSERT INTO ..VALUES statement, and if there is an error in the transaction it will be caught
ant he transaction will be rolled back. However, error number 51000 will not be returned, as it is only used in an IF @ERROR = 51000
statement.

Note: @@TRANCOUNT returns the number of BEGIN TRANSACTION statements that have occurred on the current connection.
References: https://msdn.microsoft.com/en-us/library/ms187967.aspx

QUESTION 3

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have
a correct solution.

After you answer a question in this section, you will NOT be able to return to.it.:'As.a result, these questions will not appear in the
review screen.

You create a table named Products by running the following Transact-SQL statement:

sl £ 10

Poizetmlzdes int NULL

You have the following stored procedure:

TRE Thaertfroduct

ceMame, ProducsPrice, ProductalnStack, FroductsinOrdss)

rice, FiniesinScock, MUnitadnlrder)

YRAESD (RFECdUCTheane, SUNLT

You need to modify the stored procedure to meet the following new requirements:
-Insert product records as a single unit of work.
-Return error number 51000 when a product fails to insert into the database.
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-If a product record insert operation fails, the product information must not be permanently written to the database
Solution: You run the following Transact-SQL statement:

BEGIN TRY
INSERT INTO Producta(Productlase, FroductPFrice, ProductsInSctock, Froductelnlrder)

VALUES (§Productlame, #UnitPrice, fUnitslnStock, #inicalndrder

THROW 31000, "The product could not be creatsd.’

END CRICH

Does the solution meet the goal?

A. Yes
B. No

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

If the INSERT INTO statement raises an error, the statement will be caught and an error 51000 will be thrown. In this case no records
will have been inserted.

Note:

You can implement error handling for the INSERT statement by specifying the statement in a TRY...CATCH construct.

If an INSERT statement violates a constraint or rule, or if it has a value incompatible with the data type of the column, the statement
fails and an error message is returned.

References: https://msdn.microsoft.com/en-us/library/ms174335.aspx

QUESTION 4

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have
a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the
review screen.

You create a table named Customer by running the following Transact-SQL statement:
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CRERTE TABLE Customer |
CustomerID int IDENTITY(1,1) PRIMARY KEY,
FiratHame warchac(S0) WULL,
Lastiame varchari(50) NOT HULL,
DateQfBirth date MNOT NULL,
Coeditiimit money CHECK (Creditlimic < I0000),
TewnlID int NULL PEFERENCES dbo.Town (TowalD),

CreaTedlarse darsrimse NEFRULT (Gerdate())

)

You must insert the following data into the Customer table:

Record i Last name D;:::F cl'_mdi: Town ID Created date
name 1
Record1 | Yvonne | McKay 1984-05-25 | 9,000 | O town curent due
details and time
Record 2 | Jossef Goldberg | 1995-06.03 | 5,500 | " town current dute
details and time

You need to ensure that both records are inserted or neither record is inserted
Solution: You run the following Transact-SQL statement:

INSERT INTO Customer (Firathame, Lastlame, DateQfPizth, CredictLimdssmBroaccdbatad
VALUES {(*Ywonne', ‘McKay', “1984-05-257, 8000, GETDATE(])

IRSERT INTO Custcmer (FiratMame, LastHame, DatedfBizth, Credichisfic JCEeacgnlate;
VALUES ("Jossef’, ‘“Goldberg’, “1595-08-03°, 5300, GEIDATE())

e

Does the solution meet the goal?

A. Yes
B. No

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
As there are two separate INSERT INTO statements we cannot ensure that both or neither records is inserted

QUESTION 5

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have
a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the
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review screen.
You create a table named Customer by running the following Transact-SQL statement:

CREATE TRELE Coatasmsr |
CoastomesID IDENTITY (1.1 FRIMARY EEY.
FirstHams war (80) NULL,
LastHame wvazchar(50) ROT NULL,
DatedfBicth date NOT RULL,
t Eaney CHECK (Coediclimic < 10090,
TewmID int NULL REFEREN e ID) ,
Createdlate dacetims DEFANLT (DeatdsteE())

You must insert the following data into the Customer table:

Record iy Last name n.t“ of l:!-n_ht Town ID Created date
name Birth limit
Record1 | Yvonne  Mckay | 1984.05-25 [9,000 [7Otown | currentdate
details and time
Record 2 | Jossef Goldberg | 1995-06.03 | 5,500 | O town current date
details and time

You need to ensure that both records are inserted or neither record is inserted
Solution: You run the following Transact-SQL statement:

INSERT INTO Coscopsr (FirarSase, LascSsse, DacedfBirch, Crediclisit, Tounis Cregredlars)

VALOUES ("Yvonne®, “McKay®, *1884-05-257, 9000, NULL, GETDRTE())

INSERT IETO Costomer (Firachame, Lasthame, DaceCfBirth, Crediclimiz, TownlID, CreatedDate)
VRLOES ("Josssf", “Goldoerg', “1565-0£-037, 55040, NULL, GETDRTE(})

&0

Does the solution meet the goal?

A. Yes
B. No

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
As there are two separate INSERT INTO statements we cannot ensure that both or neither records is inserted

QUESTION 6

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have
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a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the

review screen.

You create a table named Customer by running the following Transact-SQL statement:

You must insert the following data into the Customer table:

Record :::: Last name D;:;:* cl‘m : Town ID Created date
L}
Record1 |Yvonne | McKay 1984.05-25 | 9,000 | " toWn current date
details and time
Record 2 | Jossef Goldberg | 1995.06-03 [ 5,500 | O YOWN CUNCOI it
details and time

You need to ensure that both records are inserted or neither record is inserted
Solution: You run the following Transact-SQL statement:

INSIRT creditlizic)

‘Goldberg’, ISFE-UE-03T, LELD|

CatedfBirth,

Lasthiaze,

S000), |

INTO dbo.Customer (Firsthiase,

"Me¥ay', '1884-0B-287, Joasel”,

Does the solution meet the goal?

A. Yes
B. No

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

With the INSERT INTO. VALUES statement we can insert both values with just one statement. This ensures that both records or
neither is inserted.

References: https://msdn.microsoft.com/en-us/library/ms174335.aspx

QUESTION 7
Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
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solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have
a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the
review screen.

You have a database that tracks orders and deliveries for customers in North America. The database contains the following tables:
Sales. Customers

Column Data type Notes
Customer|D int primary key
GustomerCategoryiD ™ foreign key to the Sales.CustomerCategories

table

PostalCitylD int foreign key to the Application.Cities table
DeliveryCitylD int foreign key to the Application.Cities table
AccountOpenedDate datetime does not allow new values
StandardDiscountPercentage | int does not allow new values

CreditLimit

decimal(18,2)

null values are permitted

IsCnCreditHold

bit

does not allow new values

DeliveryLocation eography does nat allow new values
does notallow new values

Ph Numb har{20

sl wachar d0) data is formatted as follows: 475-555-0187
Application.Cities
Column Data type Notes
CitylD int primary key
LatestRecordedPopulation | bigint null values are permitted

Sales.CustomerCategories

Column Data type Notes
CustomerCategorylD int primary key
CustomerCategoryName | nvarchar(50) does not allow null values

The company's development team is designing a customer directory application. The application must list customers by the area
code of their phone number. The area code is defined as the first three characters of the phone number.
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The main page of the application will be based on an indexed view that contains the area and phone number for all customers.
You need to return the area code from the PhoneNumber field.
Solution: You run the following Transact-SQL statement:

CREATE FUNCIION ArsaCode

Ephonelumber nvacchaz (20
J
RETURKS
TABLE
WITH SCHEMABINDING
as
RETURM |

¥ iupher as Phopalumber, VALUE as Rrealods

Does the solution meet the goal?

A. Yes
B. No

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
As the result of the function will be used in an indexed view we should use schemabinding
References: https://sqlstudies.com/2014/08/06/schemabinding-what-why/

QUESTION 8
Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have

a correct solution.
After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the

review screen.
You have a database that tracks orders and deliveries for customers in North America. The database contains the following tables:

Sales.Customers
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Column Data type Notes
CustomeriD int primary key
CustomerCategorylD int foreign key to the Sales.CustomerCategories

table

PostalCitylD int foreign key to the Application.Cities table
DeliveryCitylD int foreign key to the Application.Cities table
AccountOpenedDate datetime does not allow new values
StandardDiscountPercentage | int does not allow new values

CreditLimit

decimal(18,2)

null values are permitted

IsOnCreditHold

bit

does not allow new values

DeliveryLocation

geography

does not allow new values

PhoneNumber

nvarchar{20)

does not allow new values
data is formatted as follows: 425-555-0187

Application.Cities

Column

Data type

otes -

CityID

int

primary key

LatestRecordedPopulation

bigint

null values are permitted

Sales.CustomerCategories

Column Data type Notes
CustomerCategorylD int primary key
CustomerCategoryName | nvarchar(50) does not allow null values

The company's development team is designing a customer directory application. The application must list customers by the area
code of their phone number. The area code is defined as the first three characters of the phone number.

The main page of the application will be based on an indexed view that contains the area and phone number for all customers.
You need to return the area code from the PhoneNumber field.

Solution: You run the following Transact-SQL statement:
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CLARFE Qarsalode mvarchar (max)

GF ! Rareatods = VALUER FRoM '.-TL::.‘:'E"-E'_:.-_E;:::.'.-:::::-:. R |

atade
Does the solution meet the goal?

A. Yes
B. No

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
As the result of the function will be used in an indexed view we should use schemabinding
References: https://sqlstudies.com/2014/08/06/schemabinding-what-why/

QUESTION 9

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
solution that might meet the stated goals. Some question sets might have more than one correct solution, while others might not have
a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the
review screen.

You have a database that tracks orders and deliveries for customers in North America. The database contains the following tables:
Sales.Customers
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Column Data type Notes
Customer|D int primary key
CustomerCategorylD It foreign key to the Sales.CustomerCategories

table

PostalCitylD int foreign key to the Application.Cities table
DeliveryCitylD int foreign key to the Application.Cities table
AccountOpenedDate datetime does not allow new values
StandardDiscountPercentage | int does not allow new values

CreditLimit

decimal(18,2)

null values are permitted

IsOnCreditHold

bit

does not allow new values

DeliveryLocation geugraphy does not allow new values
does not allow new values

PhoneNumb har{20

ik i ByarEhardao) data is formatted as follows: 425-555-0187
Application.Cities
Column Data type "-""“ﬁ,, otes _ _ ®
CitylD int primary key
LatestRecordedPopulation | bigint null values are permitted

Sales.CustomerCategories

Column Data type Notes
CustomerCategorylD int primary key
CustomerCategoryName | nvarchar(50) does not allow null values

The company's development team is designing a customer directory application. The application must list customers by the area
code of their phone number. The area code is defined as the first three characters of the phone number.

The main page of the application will be based on an indexed view that contains the area and phone number for all customers.
You need to return the area code from the PhoneNumber field.

Solution: You run the following Transact-SQL statement:
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Code Bvarchar(max)

e = value FROM STRIMG SPLIT (Aphoseiumber, *-')

o

Does the solution meet the goal?

A. Yes
B. No

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
The variable makx, in the line DECLARE @areaCode nvarchar(max), is not' defined

QUESTION 10
Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each
question. Each question presents a different goal and answer choices, but the text of the scenario is exactly the same in each

question in this series.
You query a database that includes two tables: Project and Task. The Project table includes the following columns:
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Column name Data type Notes
Projectld int This is 2 unigque identifier for a project.
ProjectName varchar{100)
StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the project is not finished yet.
Userld int Identifies the owner of the project.

Column name Data type Notes
Taskid int This is a unique identifier for a task.
TaskName varchar(100) A nonclustered index exists for this column.
ParentTaskld int Each task may or may not have a parent task.
Projectld it A nuil value indicates the task is not assigned to a

specific project.

StartTime datetime2(7)
EndTime datetime2(7) A null value indigates the tasktshat tompléted yet.
Userld int Identifies the owner of the task.

You plan to run the following query to update tasks that are not yet started:

You need to return the total count of tasks that are impacted by this UPDATE operation, but are not associated with a project

UFDATE Taak SET StartTime = GEIDATE() WHERE SctartTime IS NULL

What set of Transact-SQL statements should you run?

A

DECLARE @svartedTasks TABLE (FrojectId ing)
UPDATE Task SET StarcTime = GETDATE() OUTPUT deleted.Projectld INTO §acarcedTasks WHERE StarcTime is NULL
SELECT COUNT (%) FROM BscarcedTasks WHERE ProjeccId IS HOT NOLL

DECLARE SatarcedTasks TABLE (TaskId int, Projectld imt)

UPFDATE Task 5ET StartTime = GETDATE()} OUTPUT deleted.TaskId, deleted.ProjectId INTO BstartedTasis
WHERE StarcTime 13 NULL
SELECT COUNT (%) FROM BacarcedTasks WHERE Projectld IS HULL
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DECLARE RatacrtedTasks TABLE (TaskId int)
UPDATE Task SET StartTime = GETDATE() OUTPUT insected.Taskld, INTO Bscartedlasks WHERE StartTime is NULL
SELECT COUNTI(*) FROM @scartedTasks WHERE TaskId IS5 NOT NULL

DECLRRE @startedTasks TABLE (TaskId int)
UPDATE Task SET StartTime = GETDATE () OUTPUT deleted.TaskId, INTO §atartedTasks WHERE StarctTime is NULL
SELECT COUNT(*) FROM @starzedTasks WHERE TaskId IS MOT WULL

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
The WHERE clause of the third line should be WHERE ProjectID IS NULL, as we want to count the tasks that are not associated with
a project.

QUESTION 11
You need to create an indexed view that requires logic statements to manipulate the data that the view displays
Which two database objects should you use? Each correct answer presents a complete solution.

A. a user-defined table-valued function
B. a CRL function

C. a stored procedure

D. a user-defined scalar function

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

Explanation

Incorrect Answers:

B: You can create a database object inside an instance of SQL Server that is programmed in an assembly created in the Microsoft
.NET Framework common language runtime (CLR). Database objects that can leverage the rich programming model provided by the
common language runtime include aggregate functions, functions, stored procedures, triggers, and types.

QUESTION 12
SIMULATION
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You work for an organization that monitors seismic activity around volcanos. You have a table named GroundSensors. The table stored data collected from seismic
sensors. It includes the columns describes in the following table:

MName Data Type Notes
SensorlD int primary key
Location geography do not allow null values
Tremor int do not allow null values
NaormalizedReading float allow null values

The database also contains a scalar value function named NearestMountain that returns the name of the mountain that is nearest to the sensor.
You need to create a query that shows the average of the normalized readings from the sensors for each mountain. The query must
meet the following requirements:

-Include the average normalized readings and nearest mountain name.

-Exclude sensors for which no normalized reading exists.

-Exclude those sensors with value of zero for tremor.

Construct the query using the following guidelines:

-Use one part names to reference tables, columns and functions.

-Do not use parentheses unless required.

-Do not use aliases for column names and table names.

-Do not surround object names with square brackets.
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Y

ELSE OVER VIEW

END PERCENT WAITFOR
ERRLVL PIVOT WHEN

ESCAPE PLAN WHERE

ESCEPT PRECISION WHILE

EXEC PRIMARY WITH

EXECUTE PRINT WITHIN GROUP
EXISTS WRITETEXT

Part of the correct Transact-SQL has been provided in the answer area below. Enter the code in the answer area that resolves the problem and meets the stated
goals or requirements. You can add code within the code that has been provided as well as below it.

1 aplect

Use the Check Syntax button to verify your work. Any syntax or spelling errors will be reported by line and character position.
Your Response:

A. "See solution below"

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

SELECT Average(NormalizedReading), NearestMountain(SensoriD)
FROM GroundSensors

GROUP BY NearestMountain(SensorlD)

WHERE TREMOR IS NOT 0 AND NormalizedReading IS NOT NULL

Ex:

GROUP BY is a SELECT statement clause that divides the query result into groups of rows, usually for the purpose of performing one
or more aggregations on each group. The SELECT statement returns one row per group.

Reference: https://msdn.microsoft.com/en-us/library/ms177673.aspx

QUESTION 13
SIMULATION
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You create a table named Sales.Orders by running the following Transact-SQL statement:

CREATE TABLE Sales.Ordecs |
CrderID int KOT NULL

Cirrhe 2 ThA = = )
HEOSTMate cate el

Shippediate date

SCATOS VI

~AESTRATMT DS
-OESTRAINT PH

You need to write a query that meets the following requirements:
-removes orders from the table that were placed before January 1,2012
-uses the date format of YYYYMMDD

-ensures that the order has been shipped before deleting the record
Construct the query using the following guidelines:

-use one-part column names and two-part table names

-do not use functions

-do not surround object names with square brackets

-do not use variables

-do not use aliases for column names and table names
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ELSE OVER VIEW

END PERCENT WAITFOR
ERRLVL PIVOT WEEN

ESCAPE PLAN WHERE

ESCEPT PRECISION WHILE

EXEC PRIMARY WITH

EXECUTE PRINT WITHIN GROUP
EXISTS WRITETEXT

Part of the correct Transact-SQL has been provided in the answer area below. Enter the code in the answer area that resolves the
problem and meets the stated goals or requirements. You can add code within the code that has been provided as well as below it.

Use the Check Syntax button to verify your work. Any syntax or spelling errors will be reported by line and character position.

Your Response:

A. See solution below

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

DELETE FROM Sales.Orders

WHERE OrderDate < '2012-01-01" AND ShippedDate NOT NULL
References:
https://msdn.microsoft.com/en-us/librarv/ms189835.aspx
https://msdn.microsoft.com/en-us/librarv/bb630352.aspx

QUESTION 14

SIMULATION
You have a database that contains the following tables.
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SalesPerson

T SalesPersonld

Personld o d W Personld

TerritorylD PersonType
MameStyle

oy Title

o FustMame

i MiddieMName
LastMame

ModificdDate

You need to create a query that lists the lowest-performing salespersons based on the current year-to-date sales period. The query
must meet the following requirements:

-Return a column named Fullname that includes the salesperson FirstName,.a space, and then LastName.
-Include the current year-to-date sales for each salesperson.

-Display only data for the three salespersons with the lowest year-to-year sales values.

-Exclude salespersons that have no value for TerritoryID.

Construct the query using the following guidelines:

-Use the first letter of a table name as the table alias.

-Use two-part column names.

-Do not surround object names with square brackets.

-Do not use implicit joins.

-Use only single quotes for literal text.

-Use aliases only if required.
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END PERCENT WAITFOR
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ESCEPT PRECISION WHILE
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EXECUTE PRINT WITHIN GROUP
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Part of the correct Transact-SQL has been provided in the answer area below. Enter the code in the answer area that resolves the
problem and meets the stated goals or requirements. You can add code within the code that has been provided as well as below it.

1 SELECT

g FROM Person AS P O INNER JOIN SalealPercsacn AT 5
I ON P.ParaonlD D.O8aleaPeraconll

4 WHERE

Use the Check Syntax button to verify your work. Any syntax or spelling errors:will-be reported by line and character position.
Your Response:

A. See solution below

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

SELECT TOP(3) FirstName + " + LastName AS Fullname, S.SalesYTD
FROM Person as P INNER JOIN Salesperson AS S

ON P.PersonID = S.SalesPersonID

WHERE S.TerritorylD IS NOT NULL

ORDER BY S.SalesYTD

On ordering: ASC | DESC
Specifies that the values in the specified column should be sorted in ascending or descending order. ASC sorts from the lowest value
to highest value. DESC sorts from highest value to lowest value. ASC is the default sort order. Null values are treated as the lowest
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possible values.
References: https://msdn.microsoft.com/en-us/library/ms189463.aspx

QUESTION 15
SIMULATION
You have a database that contains the following tables.

C aliarrn .. Data Typee Aillors Plualln b
5 Penanil L] i | [

Farnie wovadd har( 500 = | -
Jj
Contacts

Complaints

.l.:nlumn Marme Ablore My - ILJ- A

Diats Type  arharnd Marne Dats Typs
Ferionild it i | I 1 T C orvaplasrtil il 1
Capevuplaint i ant =) } _i © arrvaplasril e ard huan{WLAK) 0
TimeToRewolution  tume(7) = - ComplamDate  datotvs 1

You need to create a query that lists all complaints from the Complaints table, and-the name of the person handling the complaints if a person is assigned. The
ComplaintlD must be displayed first, followed by the person name.

Construct the query using the following guidelines:

-Use two-part column names.

-Use one-part table names.

-Do not use aliases for column names or table names.

-Do not use Transact-SQL functions.

-Do not use implicit joins.

-Do not surround object names with square brackets.
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DUME OUTER VARYING

ELSE OVER VIEW
END PERCENT WAITFOR
ERRLVL SEYO WEEN
ESCAPE PLAN WHERE
ESCEPT PRECISION WHILE
EREC PRIMARY WITH
EXECUTE PRINT WITHIN GROUP
EXISTS WRITETEXT
1 SELECT Complaints.ComplaintId,
2 FROM
2 JOIN
4 JOIN

Part of the correct Transact-SQL has been provided in the answer area below. Enter the code in the-answer area that resolves the problem and meets the stated
goals or requirements. You can add code within the codethat has been provided-as well as below it.
Use the Check Syntax button to verify your work. Any syntax or spelling errors will be reported by line and character position

A. See solution below

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

SELECT Complaints.ComlaintlD, Persons.Name

FROM Persons

JOIN Contacts

ON Persons. PersonlD=Contacts.PersonID

JOIN Complaints

ON Contacts. ComplaintiD=Complaints. Complaint ID

References: https://technet.microsoft.com/en-us/library/ms190014(v=sql.105).aspx

QUESTION 16
You have a database that includes the tables shown in the exhibit. (Click the exhibit button.)
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You need to create a list of all customers, the order ID for the last order that the customer placed, and the date that the order was placed. For customers who have

not placed orders, you must substitute a zero for the order ID and 01/01/1990 for the date.
Which Transact-SQL statement should you run?

A

SELECT C.CustomerlD, ISHULL(SOH.S5alsstrderlID,

0y RS OrderlD, ISWULL (MAX (OrderDace),

FROM Sales.Costomer C LEFT OUTER JOIN Sales.SalesQzderHeader S0H

o C.CostomerID = SOH.CostooerID
GROUP BY C.CostemerID, SOH.SalesOrdesID

CRDZR BY C.CostomerID

ll‘]
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B.

SELECT C.CustcmerlID, 50H.S5alesOrderID,

MAX (OrderDace)

FROM Sales.Customer C INMER JOIN Sales.SalesOrderHeader S0H

0 C.CustomexID
FROUF BY C.CusctomerlD,
ORDER BY C.CustomerID

S0H.CustomerID

S0H . SalealrderliD

SELECT C.CustomerID,
FROM Sales.Cuscomer © RIGHT OUIER JOIN Sales.JalesOrderHeader 508

CH C.CuscomeriD

AETE

= S0H.CuscomerID

GROUP BY C.CostomerlID, 50H.IalealrdezlD

CRDER BY C.CustomerIl

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

S0H.SalesdrderID, MAX(OrderDate)

ISNULL Syntax: ISNULL ( check_expression , replacement_value ) author:"Luxemburg, Rosa"

The ISNULL function replaces NULL with the specified replacement value. The value of check_expression is returned if it is not NULL;
otherwise, replacement_value is returned after it is implicitly converted to the type of check expression.

References: https://msdn.microsoft.com/en-us/library/ms184325.aspx

QUESTION 17

You have a database that contains the following tables:

Customer
Column name Data type Mullable Default value
Customerld int No Identity property
FirstName varchar({30) Yes
LastName varchar{30) No
CreditLimit money No

CustomerAudit
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Column name Data type Nullable Default value
Customerld int No
DateChanged datetime No GETDATE()
OldCreditLimit money No
NewCreditLimit money No
ChangedBy varchar(100) No SYSTEM USER

F4VCEplus

VCE To PDF - Free Practice Exam

Where the value of the CustomerlD column equals 3, you need to update the value of the CreditLimit column to 1000 for the customer.

You must ensure that the change to the record in the Customer table is recorded on the CustomerAudit table.

Which Transact-SQL statement should you run?

A

UPDATE Customer
SET Creditlimic = 1000
WHERFE Customerld = 3

INSERT INTO dbo.Customerfuodit (Customer]d, OldCredicLimit, MewCredicLimit)

SELECT CustomerId, Creditlimit, Creditlimit
FROM Custcomer
WHERE Customerld = 3

UPDATE Customer
SET Creditlimit = 1000
BWHERE Customerld = 3

INSERT INTO dbo.Customeriudit (Custcmerld, OldCrediclimie, MNewCreditLimit)

SELECT Customerld, Creditlimit, Creditlimic
FROM Cuacomer

UPDATE Customer

SET Creditlimict = 1000

QUTPUT inssrted.Customerld, inssrted.Creditlimic, deleted.Creditlimit
INTO Coatoperiudic (Cuscomerld, OldCreditiimit, NewCreditLimic)
WHERE Customerld = 3

UPDATE Customer

SET Credictlimic = 1000

OUTPUT ansertzed.Customerld, deleced.Crediciimic, anserced.Creditlimit
INTO CostomerAudit (Costomerld, OldCreditlimit, HewCreditLimit)
WHERE Cuatomerld = 3
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

The OUTPUT Clause returns information from, or expressions based on, each row affected by an INSERT, UPDATE, DELETE, or
MERGE statement. These results can be returned to the processing application for use in such things as confirmation messages,
archiving, and other such application requirements. The results can also be inserted into a table or table variable. Additionally, you
can capture the results of an OUTPUT clause in a nested INSERT, UPDATE, DELETE, or MERGE statement, and insert those results
into a target table or view.

Note: If the column modified by the .RITE clause is referenced in an OUTPUT clause, the complete value of the column, either the
before image in deleted.column_name or the after image in inserted.column_name, is returned to the specified column in the table
variable.

Incorrect Answers:

C: The deleted.Creditlimit should be inserted in the second column, the OldCreditLimit column, not the third column.

References: https://msdn.microsoft.com/en-us/library/ms177564.aspx

QUESTION 18

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question
presents a different goal and answer choices, but the text of the scenario. is exactly the same in each question on this series.

You have a database that tracks orders and deliveries for customers in North America. System versioning is enabled for all tables.

The database contains the Sales.Customers, Application.Cities,.and Sales.CustomerCategories tables.

Details for the Sales.Customers table are shown in the following table:
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Column Data type Notes
Customerld int primary key
. foreign key to the
CustomerCategaryil i Sales.CustomerCategories table
PostalCitylD int foreign key to the Application.Cities table
DeliveryCitylD int forelgn key to the Application.Cities table
AccountOpenedDate datetime does not allow values
StandardDiscountPercentage | int does not allow values
CreditLimit decimal(18,2) null values are permitted
IsOnCreditHold bit does not allow values
DeliveryLocation geography does not allow values
PhoneNumber nvarchar({20) does not allow values
" does not allow values, GENERATED
ValidFrom datetime2(7) ALWAYS AS ROW START
does not allow vallies, GENERATED
ValidT datetime2(7 :
TEEE etime2(7) | aLwavSiAs ROW-END

Details for the Application.Cities table are shown in the following table:

Column Data type MNotes
CitylD int primary key
LatestRecordedPopulation bigint null values are permitted

Details for the Sales.CustomerCategories table are shown in the following table:

Column Data type Notes
CustomerCategorylD int primary key
CustomerCategoryName rvarchar{50) does not allow null values

You need to create a query that meets the following requirements:

-For customers that are not on a credit hold, return the CustomerlD and the latest recorded population forthe delivery city that is
associated with the customer.

-For customers that are on a credit hold, return the CustomerID and the latest recorded population forthe postal city that is
associated with the customer.

Which two Transact-SQL queries will achieve the goal? Each correct answer presents a complete solution.
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SELECT Customerll, LatestRecordegqPopulation

FROM Sales.Custcomers

CROS5 JOIN Applicacicon.Citites

WHERE (IsOnCreditHold = 0 AND DeliveryCityID = CityiD)
OF [IsOnCreditHold = 1 AND PostalCityID = CizyID)

SELECT CustomerlD, lLatestRecordedPopulation

FROM Sales.Customers

INNER JOIN Application.Citices AS A

N A.CitylD = IIF(IsOnCreditHold = 0, DeliveryCitylD, PostalCityID)

SELECT CustomerID, ISKULL(A.LatestRecordedPopulation, B.LatestRecorded Population)
FROM Sales.Customers

IBNER JOIN Application.Citites AS A ON 4.
INNER JOIN ARpplication.Citites AS B ON B
WHERE I=sOnCredicHold = 0

SELECT CustomerlID, LatestRecordedPopulation,

IIF (IsOnCreditHold = O, DeliveryCityID, PostalCPw®PD) As Cityld
FROM Salsa.Customers

IRNER JOIN IZpplicacion.Citites BAS R ON N.CitylD = Cityld

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

Using Cross Joins

A cross join that does not have a WHERE clause produces the Cartesian product of the tables involved in the join. The size of a
Cartesian product result set is the number of rows in the first table multiplied by the number of rows in the second table.
However, if a WHERE clause is added, the cross join behaves as an inner join.

B: You can use the IIF in the ON-statement.

IIF returns one of two values, depending on whether the Boolean expression evaluates to true or false in SQL Server.
References:

https://technet.microsoft.com/en-us/library/ms190690(v=sql.1 05).aspx
https://msdn.microsoft.com/en-us/library/hh213574.aspx

QUESTION 19
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Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is repeated in each question. Each question
presents a different goal and answer choices, but the text of the scenario is exactly the same in each question on this series.

You have a database that tracks orders and deliveries for customers in North America. System versioning is enabled for all tables.

The database contains the Sales.Customers, Application.Cities, and Sales.CustomerCategories tables.

Details for the Sales.Customers table are shown in the following table:

Column Data type Notes
Customerld int primary key
" foreign key to the
|
ClimerCatngonyia - Sales.CustomerCategories table
PostalCitylD int foreign key to the Application.Cities table
DeliveryCitylD int foreign key to the Application.Cities table
AccountOpenedDate datetime does not allow values
StandardDiscountPercentage | int does not allow values
CreditLimit decimal(18,2) null values are permitted
IsOnCreditHold bit does not allow values
Deliverylocation eography does not allow values
PhoneNumber nvarchar(20) does notallow values
does 1ot allow values, GENERATED
Vali
alidFrom datetime2(7) ALWAYS AS ROW START
ValidTo datetime2(7) does not allow values, GENERATED

ALWAYS AS ROW END
Details for the Application.Cities table are shown in the following table:

Column Data type Notes
CitylD int primary key
LatestRecordedPopulation bigint null values are permitted

Details for the Sales.CustomerCategories table are shown in the following table:

Column Data type Notes
CustomerCategorylD int primary key
CustomerCategoryName nvarchar({50) does not allow null values

You discover an application bug that impacts customer data for records created on or after January 1,2014. In order to fix the data
impacted by the bug, application programmers require a report that contains customer data as it existed on December 31,2013.
You need to provide the query for the report.

Which Transact-SQL statement should you use?
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DECLARE @sdate DATETIME, (fedate DATETI!

SET Esdate = DATEFROMPARTS (2013, 12, 31)

set @edate = DATEADD(d, 1, @sdate)

ELECT * FROM Sales.Customers FOR SYSTEM TIME ALL
WHERE ValidFrom > fisdate AND ValidTo < Redate

DECLARE @sdate DATETIME, fedate DATEIID
SET @sdate = DATEFROMPARTS (2013, 12, 31)
ser fedace = DATEADD (4, -1, @adace)

SELEC

SELECT * EROM Sales.Customers FOR SYSIEM TIME BEIWEEN fisdace AND Redate

DECLARE fdace DRIE
SET fdate = DATEFROMFARIS (2013, 12, 31)
SELECT * FROM Sales. Customers FOR SYSTEM TIME RS OF @date

=)

date DATE
= DATEFROMPBARTS (2013, 12, 31)
FROM Sales.Customers WHERE @date BEIWEENW ValidFrom IND ValidTo

l"i.ln._.l
'E'E;
e ="
B
i

I = [

=
1

" o

Lo Ly

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

The datetime datetype defines a date that is combined with a time of day with fractional seconds that is based on a 24-hour clock.
The DATEFROMPARTS function returns a date value for the specified year, month, and day.

Incorrect Answers:

A: ValidFrom should be less (<) than @sdate AND ValidTo should be greater (>) than @edate.

B: We should add a day with DATEADD, not subtract one day.

C: We cannot compare a date to an exact datetime.

References: https://msdn.microsoft.com/en-us/library/ms187819.aspx

QUESTION 20
Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may be correct for
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more than one question in the series. Each question is independent of the other questions in this series. Information and details
provided in a question apply only to that question.

You have a table named Products that contains information about the products that your company sells. The table contains many
columns that do not always contain values.

You need to implement an ANSI standard method to convert the NULL values in the query output to the phrase "Not Applicable".
What should you implement?

A. the COALESCE function

a view

a table-valued function

the TRY_PARSE function

a stored procedure

the ISNULL function

a scalar function

the TRY.CONVERT function

IOmMmMmOOW

Correct Answer: F
Section: (none)
Explanation

Explanation/Reference:
The ISNULL function replaces NULL with the specified replacement value
References: https://msdn.microsoft.com/en-us/library/ms184325.aspx

QUESTION 21

Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may be correct for more than one question in
the series. Each question is independent of the other questions in this series. Information and details provided in a question apply only to that question.

You have a database that is denormalized. Users make frequent changes to data in a primary table.

You need to ensure that users cannot change the tables directly, and that changes made to the primary table also update any related tables.

What should you implement?

A. the COALESCE function
a view

a table-valued function
the TRY.PARSE function
a stored procedure

the ISNULL function

a scalar function

@mMmoOOoOwm
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H. the TRY.CONVERT function

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

Using an Indexed View would allow you to keep your base data in properly normalized tables and maintain data-integrity while giving
you the denormalized "view" of that data.

References: http://stackoverflow.com/questions/4789091/updating-redundant-denormalized-data-automatically-in-sql-server

QUESTION 22

Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may be correct for more than one question in
the series. Each question is independent of the other questions in this series. Information and details provided in a question apply only to that question.

You have a database that stores sales and order information.

Users must be able to extract information from the tables on an ad hoc basis. They must also be able to reference the extracted information as a single table.
You need to implement a solution that allows users to retrieve the data required, based on variables defined at the time of the query.

What should you implement?

A. the COALESCE function

a view

a table-valued function

the TRY_PARSE function

a stored procedure

the ISNULL function

a scalar function

the TRY.CONVERT function

IOmMmMmOOW

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

User-defined functions that return a table data type can be powerful alternatives to views. These functions are referred to as table-
valued functions. A table-valued user-defined function can be used where table or view expressions are allowed in Transact-SQL
queries. While views are limited to a single SELECT statement, user-defined functions can contain additional statements that allow
more powerful logic than is possible in views.

A table-valued user-defined function can also replace stored procedures that return a single result set.

References: https://technet.microsoft.com/en-us/library/ms191165(v=sql.105).aspx
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